AddaR247

Question Booklet Series QUESTION BOOKLET Question Booklet ID :
D Examination Time : 9.30 A.M. to 11 A.M.

1. There are 50 questions and each question carries 2 (two) marks.

2. There is negative marking. 1 (one) mark will be deducted for each wrong answer.

3. On the Question Booklet, there is a small box on the top left corner where a letter showing series of the
Question Booklet is written. Write that letter on the empty box provided on your OMR answer Sheet .
(Question Booklet Series) and fill the corresponding circle properly and carefully on the OMR Answer Sheet. s

4. Write your 12 digits Roll Number on the OMR sheet in the boxes and fill the corresponding circles |
properly and carefully on the OMR Answer Sheet. .

5. OMRID is available in the OMR answer sheet and Question Booklet ID is available in the Question »
Booklet. You will have to write down the OMR ID and Question Booklet ID on the attendance sheet. |

6. You have to use only BLACK BALL POINT PEN to write particulars on the OMR Answer Sheet and .
for darkening the circles of responses. Use of pencil or any other means is strictly prohibited.

7. You should submit Question Booklet alongwith First Copy of OMR sheet to the invigilator or else your
OMR answer sheet will not be examined. Second copy of OMR can be taken by the candidate. .

8. Use of Calculators, Mobile phones, Bluetooth device, Smart Watch, headphone and any other kind of s
electronic device is strictly prohibited inside the Exam Centre. If found, his / her candidature will be
cancelled and criminal action may be initiated.

9. Biometric data of each candidate will be recorded before entering the Exam Centre.

10. In case of any difference in English and Assamese Version of a question, the English Version will be
taken as correct.

Example : How to fill and mark on OMR ANSWER SHEET

If your Q.B. Series| If your Roll No. is 123418316127,

is C, Please mark Please mark on OMR sheet as shown
on OMR sheet as below :

shown below :

QUESTION
BOOKLET SERIES

ROLL NUMBER

1123|411 |8|3|1|6|1]|2]7

QOOOOOOLOOOOO®
L 490J0J0] JOl0] 10l JOI0)
o JOISIOOlale) 1)
O] 16016)6] Ol0I0)6I©)
DOOOOOOOOHOB®®
DOOOOOOOOOOG
OOOOOOOCO®OO®®
QOODOOOODOOO®
BRERR@®OEROE®®
DOOOOOOOOOO®

Wrong Methods Correct Method

00O

[N Q1 - Series - D


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS,
ONE SUBSCRIPTION |

‘I
40,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
500+ Previous Year 500%
Exam Covered Papers Refund

DOWNLOAD NOW


https://applink.adda247.com/d/5zsmwiLHz7

AddaR247

1. Choose the Word nearly opposite 1. PRUDENT *3hR & Re{te

in meaning. sl i Sferea 2
?;U[S)i]::‘}l\}je (A) Simple

(B) Rapid (B) Rapid

(C) Verbose (C) Verbose

(D) Foolish (D) Foolish

2. TEIETE CFES TieI WG | 2. RGNS (PO TR WABIN

IS I2I5 &SR (! 2 TCS 2T 2SR (D! 2
(A) =TS (A) =©

B) e (B) T

(C) T () T

(D) W (D) @R

3. SO PG WWT SRS @R | 3. ©FR (PG w9 oRferel @

IS 1R 2 L emhaR?
(A) I mm  (A) @RI
e

(B) - B TN

(©) FfFrm (o) PR

(D) firel (D) fe
4.W@W@W®W§¢WW@W@W

T TR ? e 7

(A) @ @ an

B) e . @B fER

(C) W L (©)

(D) 2© . (D) =™
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5. From which menu you can insert | 5. Header and Footer TR0 (Ne[d

Header and Footer ? W@ﬁf insert &< ?
(A) Insert Menu (A) Insert Menu
(B) View Menu (B) View Menu

(C) Format Menu (C) Format Menu
(D) Tools Menu (D) Tools Menu

6. A combination of Row and 6. Row and Columnd J=F I

Column 1s called 7 ?
(A) Line (B) Column (A) Line (B) Column
(C) Row (D) Cell (C) Row (D) Cell

7. Choose the Word most similar in ; 7. FIASCO WO 2R N =G
meaning. v 2
FIASCO AE IF »
t
(A) Festival (A) Festiva
(B) Happening

(B) Happening
(C) Ceremony

(C) Ceremony [
(D) Disaster Eﬁ% (D) Disaster
8. Bagarumba is a dance of 8. TR T FRE ?
(A) Karbis (B) Tiwas m (A) & (B) Toat
(C) Bodos (D) Rabhas (C) ATl (D) qrel
9. To insert three columns between 9. o D HF EF Nere fofBl T
column D and E, you will 2N FREE §&[ SR RG]
(A) Select Column D <9 2
(B) Select Column E . (A) Select Column D
(C) Select ColumnE,FandG | (B) Select ColumnE

(C) Select Column E, F and G

(D) Select Column D, E and F
(D) Select Column D, E and F

Series-D E Q1
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10. If a large number of people are 10.

enclosed in a room, then

(A) Oxygen and Carbon dioxide

will increase.
(B)
(®)

Only Oxygen will increase.

Only Carbon dioxide will
increase.

(D) Both Oxygen and Carbon

dioxide will decrease.

11. Your doctor gave you 7 Capsules 11
to be taken one at 2 hours interval.
How long the Capsules last ?

(A) 14 hours
(B) 13 hours
(C) 12 hours
(D) None of these

12. Where was Madhavdev born ?
(A) Borduwa
(B) Koch Bihar
(C) Leteku Pukhuri
(D) Garmur

13. Which Assamese film
released in 1935 ?

(A) Joymati
(B) Paarghat
(C) Monomati
(D) Indramalati

S 2,

was i 13.

GGl @Foifere AW IPRYT T2

a4 2 Sl

(A) RIS SF FE T2 SHZT
Ifz A

(B) T SIRICSH Jhan 71

(C) 3@ FR4-T2 S@izT I
|17

(D) THCE  HF  PRA-TIR
TIBT T I |

. COINP OI&CT 451 (@F¥ipel M g=oia

I 09 - et | @fsn e
ATTS (O (FAReT AR R ?
(A) 58 9%

(B) S 9B

(C) ST

(D) b8 7=

TR 7S & (2% 2
(A) I

(B) TI5 2™

(C) TIBF 4

(D) oTeyq

Ydlo¢ TS (@FIY Hefbaz e
2R ?

(A) SRS

(B) “II<=iG

(C) SCIs

(D) ZWETS!
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14. Who wrote ‘Karengar Ligiri® ?
(A) Phani Sarma
(B) Bishnu Prasad Rabha
(C) Jyoti Prasad Agarwala
(D) Parbati Prasad Barua

15. Whom Bhaskar Barman sent as

ambassador to Harshavardhan ?
(A) Vayu

(B) Varuna

(C) Meghadut

(D) Hang Savega

16. Coin system was introduced by

(A) Pratap Singha
(B) Sukhampha (Khora Raja)

(C) Suklenmung (Gorhgaiya
Raja)

(D) None of these
17. Who wrote “Namghosa” ?
(A) Sri Madhav Dev
(B) Srimanta Sankardev
(C) Sri Madhav Kandali

(D) Jyoti prasad Agarwala

3%

14.

15.

16.

17.

e oI PICT Toe1 MR 2
(A) >

(B) f3e epT are!

(C) TSyt epTm SoRateT

(D) “IRfS epiv 7=l

TR T R 3BT 2o
JIF 7013 ?

(A)
(B) 7%

(C) WIS
(D) TPCA!

7 ARER ARH FaiRRE
(A) @i Pz

(B) RIS (31 <e)

(C) TICTTRR (91T aleel i)
(D) G =

T G TR T51 afRe 2
(A) THETR

(B) RIS *FIMR

(C) i Fulel

(D) Teyifs 2P s
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18.

19.

20.

21.

Holes in “Ozone Layer’’
caused by

(A) CO,

arc

(B) SO,
(C) CO
(D) CFC

Which District of Assam has no
International Boundary ?

(A) Dhubri

(B) Karimganj

(C) Tinsukia

(D) Kamrup (Rural)

Which is not a Union Territory ?
(A) Chandigarh

(B) Puducherry

(C) Laddakh

(D) Daman and Diu

Who is the Chairman of Rajya
Sabha ?

(A) Speaker

(B) Chief Justice of India
(C) Vice-President of India
Member

(D) Seniormost of

Rajya Sabha

18.

19.

20.

Holes @<F

“Ozone Layer™®
P ?

(A) CO,

(B) SO,

(©) CO

(D) CFC

TP (i S SIS FIgE A
BIEY,

(A) &
(B) =9ig
(C) fefapFm

(D) I (&%)

OO (L (R *PTS w2y 2
(A) Bigste

(B) *Muf<

(C) =M

(D) 7 I e

JEPTOR oIS (I ?
(A) PR

(B) ST Y HRIFMI
(C) e TqigHite

(D) ASPTSR  HESFE (D
ST R |
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22. Who cannot vote in the Election
of the President of India ?

(A) Elected Member of Lok
Sabha.

(B) Elected Member of Rajya
Sabha.

(C) Elected Member
Legislative Council.

of

22.

TITes q1geifs feRfors @i =it
' TR 2

(A) wITeR fFEfbw s
(B) IpTeR Rl 7%
(C) T ~ifaws FRffbs 7

(D) Elected member of
Legislative Assembly. (D) farpTels feffos sy
23. The term  “monopoly” is | 23. “Monopoly’ *Ig Gt & <41
associated with 7?7
(A) Capitalism (A) &A™
(B) Socialism (B) N&<w
(C) Communism (C) IR
(D) Mixed Economy (D) T S ifs
24. Who is not a  member 0f§%§24. P ¥ BIMSTECY %)
&
BIMSTEC ? 737 ?
(A) Nepal (A) &
(B) Sri Lanka (B) Qi
(C) Bangladesh (C) =TI
(D) Kyrgyzstan (D) frfergm
25. Council of States was renamed 25. Council of States «NI<FIT <1
as — 35 —
(A) Lok Sabha (A) oISl
(B) Sansad (B) oM
(C) Rajya Sabha (© FmEpre
(D) Vidhan Sabha (D) fepTe!
Series-D Q1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

26. Riyan Parag isa 26.

(A) Football Player
(B) Cricket Player
(C) Boxer

(D) Badminton player

27. *“Village Rockstars” was directed 27.

by —

(A) Jahnu Barua
(B) Manju Bora
(C) Rima Das
(D) Zubin Garg

28. Sri Rameshwar Teli is

(A) Cabinet Minister of Food
Processing.

(B) Minister of State in Labour
Ministry.

(C) Minister of State in Food
Processing Ministry.

(D) Minister of State for Tribal
Affairs.

=
=

29. Who has been awarded Padam 29.

Shri award in 2019 ?
(A) Sri Arup Kumar Dutta
(B) Sri Prafulla Barua

(C) Sri Dhirendra Nath
Bezbarua

(D) Sri Uddhab Bharali

28

I “1ter @oqIP 2

(A) 5T (4L
(B) &b c4olq
(C) TR

(D) RGN (=

fEteTe 9B’ ARBERE oiifee —
(A) @iF I

(B) gl

(C) S

(D) G e

RS P (SfeT 2731 Q9P 2
(A) A7 efFaeae R Tat
(B) ¥ HRR e Tl

(C) 47 AT TFETT ST
Tl

(D) T=&ifs s qifen<s wat

0%y IS MR A FIF @i
391 2fee 2

(A) @7 I 7@

(B) erpel g4l
ORISEREISIEERXI]
(D) Tad wHEl
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30. G-20 Summit 2019 was held in 30. 208y BI® G-20 e F©
(A) Seol (B) Osaka 2 2
(C) Tok (D) Shanghai ) (B) <ot
okyo anghai :
(C) Reer (D) bRz
31. Who is the Director of | 31 Intelligence Bureaud  SI4FF
Intelligence Bureau ? o)
(A) Samant Goel (A) BINS 5
(B) K.P.Jain (B) TP &
(C) Arvinda Kumar © WW
(D) R.K.Mishra (D) W[. . =
32. If % 2,600 is divided among the | 32, svoo 5FF IW A, B ®IF C 9
persons A, B and C in the ratio e ©eli3 oyl ' | Braes ©lse
1/2 : 1/3 : 1/4 respectively. How AS S/3 - So - S/8 T B
much B gets ? EJ%;E S 3R ' REBE
) 3 - ™ a1 Bl #4191 2
A) %700 B 800
(A) 10053 (B) boo 5l
C) T 833 D) %767
© (D) (C) b 5 (D) 1445
33. Average 2 monthly pay of five 33. s f3pi7e WWW “oo
brothers is ¥ 600 and if two 5! vl S | g T& Sl
brothers got a pay raise of I 100, Soo T {f\% M o
then the new average pay will C e '
be - Tod PrReq ow wawgl e
-
(A) %620 (B) %640
(A) vRo GFl  (B) 8o G
C) %660 D) %700
) ) (C) vo Gl (D) 100 Gl
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34.

3s.

36.

A can do a piece of work in
12 days and B can do it in 24
They started the work

together. Calculate the number of

days.

days to complete the work ?

(A) 8 days (B) 6 days

(C) 12 days (D) 7 days

On a sum of money if the

difference  between  simple
interest and compound interest,
both at 10% ,1s X 10 in two years.

What is the principal amount ?

(A) T 100 (B) T 500

(C) 1,000 (D) 210

reaches Ghy at 11 AM. Another
train leaves Ghy at 5.30 AM and
at 11.30 AM.

What time the two trains cross

reaches Jorhat

each other ?

(A) 8 AM

(B) 8.15AM

(C) 8.30 AM

(D) None of these

A train leaves Jorhat at 5 AM and = 36.

34.

3S.

GG BN FRECE AT I A S2
e, G2 G SN FREE B
=Ieal X8 el | QUpaTes] iR Jore
fomspiey forey 7oy =mifar 2

(A) b o=
(C) >3 T

(B) oy
(D) qf=

T (I 4o S 0 XSIRH 7701 ZTS

TR AR TS A i T4
N So Tl = (SR ol
R =a?

(A) 50053 (B) &oo 5l

(C) socoo Tl (D) So bl

Q2 @@ [ ¢ JEre QARG
o oz ieE >y Jee @b
G | SIRITS S G (& 7l
@.\90 TE© BRI a1 ¢l e
SS.00 IG® @G A |
gfe fRFIe TS e (@O
QY LT TR P ?

(A) 8 AM

(B) 8.15AM

(C) 8.30 AM

(D) G872

Q1
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37. If the circumference of a circle is | 37. I™ J€ 9bF 3 50% F2 ol
reduced by 50%, then the area 2 (S JOWR CFaTe [Fule 9
of the circle will reduce by — %79

0
(A) 25% (A) 25%
(B) 50% (B) 50%
(C) 65% (C) 65%
(D) 75 % D) 75 %

38. Ramesh walks 10 km in frontand | 38. I So RFCAINGI F FICe
10 km to the right. Then every s 0ol GTIRITE S o NG
time turning left he walks 5 km, T | O} e FAFR ST
15 km and 15 km respectively. ¢ SR, se FEitR =ie
How far is he now from the ve FEfeR 36 a9 | o8
starting point ? ISR i S Ity REN)
(A) 2 km IR ?

(B) 5 km (A) } feCEfoe
(C) 25km gy D¢ ARG
(D) 40 km B €) e

(D) 8o eI

39. IfD, E and F are three mid points 39. ABC W\g BC, CA ¥ AB
ofthe sides of BC, CA and AB A T W 9 D, E 9% F,
oftriangle ABC. The area of DEF | )
is 4 cm?, then the area of ABC 4\l DEF 9 (e T+ 4 cm 2
will be (SC% ABC T CFaze] [P T37?
(A) 8 cm? C(A) 8em?

(B) 12 cm? (B) 12 cm?2
(C) 16 cm? C(© 16em?
(D) 24 cm? . (D) 24cm?
Series-D Q1
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Q. 40 & 41 Answer the following
questions based on the diagram :

40. Which number
figures ?

(A) 5
(B) 2
©) 4
(D) 7

is in all 3

41. What is the product of numbers
which are laying only in
rectangle ?

(A) 6
B) 7
C) 72
(D) 74

Q.42 & 43 : Select the Venn Diagram
which best illustrates the relationship
among the items given below :

42. Lawyers, Honest, Dishonest,

(A) ® @)
© OO0 ®» D

43. Police Constable, Peon, People

(A) ® @)
© OO0 ®» D

oW TR 40 - 41 HAGR e fefe TN

Taq

A
A

1 2 7 6
/8 9\
40. THINC! R4 [of+1€bi o ©itg 2
(A) 5
(B) 2
(C) 4
(D) 7

41. T YRST Aee AFN R

SfoRpeT fpayle] 2
(A) 6
(B) 7
(C) 72

E|E|
Ef;. (D) 74

o R 42 - 43 :  HHIRSF TRw
foaiehl Roifs Sfereal RGIE <o@
XTI T TV 2 B :
42. SRS, AR, TR |

(A) ® &
© OO0 O D
43. o> B, R, T2 |

(A) ® &
© OO0 O D
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44.

In a certain code STABILISE 1is
written as UVCDKNKUG. How
would CRICKET be written in

the same code ?
(A) DSIDLEFS
(B) ETKEMGV
(C) KTMEVGV

(D) EKTMEGV

44,

STABILISE % 3% UVCDKNKUG
TS o1l 2 (o® CRICKET
F TS o427 92

(A) DSJDLFS

(B) ETKEMGV

(C) KTMEVGV

(D) EKTMEGV

Q.45 & 46 : Sclect the words which | &% =R 45 - 46 : T *HI[I [
is least like the other words in the | JRCINS(T I gy =p1 7! Ko
group. Sferedl |
g () T
45. (A) Carrot A
(B) ile]
(B) Potato
(C) iz
(C) Tomato
(D) wmi
(D) Ginger
46 (A) Fm
46. (A) Humble
(B) Civil - B )
(C) Rude (C) ©rex
(D) Polite (D) ©u
Series-D Q1
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Q. 47 & 48 : Three words are given in
each question which have something in
common among themselves. Choose
the most appropriate description about
these three words.

47. Bantus, Khasis, Maoris
(A) Tribal groups
(B) Herdsman
(C) Pasturelands
(D) Mountaineers

48. Coal, Iron, Mica
(A) Gold
(B) Rock
(C) Earth
(D) Minerals

Q. 49 & 50 : On the basis of the
relationship between first two words,
you have to decipher the relationship
of third word with the options given.

49. Sonitpur : Tezpur :: Darrang : ?
(A) Udalguri
(B) Mangaldoi
(C) Sipajhar
(D) Majbat

50. Satyajit Ray : Film :: Picasso : ?

o T2 47 - 48 : fSn eMe TR

| fooss folabitas = frml tatz | fefrabl
| XS SR 9T Seq! Ko Sfered |

47. gD, 45l WeRD
(A) SeTeifS
(B) A
(C) Bl #A=F ()
(D) “HeIER

48. I, &M, oG
(A) o
(B) e
(C) =
(D) FIiRes

2051 49 - 50 : &I 7O *H9 A& TS5

B2 SO *RFoR wa Sean! [

| Sfere |
O 0]
S

49 T : (T[T 2 MR
(A) SIS
(B) weEitn
(C) =HRIE
(D) et

50 sTeifers i : oot PRIt : 2

(A) Painting (A) = ()
O room g
(D) Literature D) T
Q1 Series-D
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